#include <iostream>
using namespace std;

struct nod
{
double inf;
nod *urm;
b
typedef struct nod NOD;
NOD *prim;
void creare () ;

void parcurg (NOD *) ;
int main ()
{
creare();
cout<<"Parcurgera listei de la primul catre ultimul element:\n";
parcurg (prim) ;
return O;
}
void creare()

{
NOD *p, *noul nod;

p=new NOD;

prim=p;

cout<<"Informatia (0 pentru terminare): "; cin>>p->inf;
p—>urm=NULL;

while (p->inf)

{

noul nod=new NOD;

p->urm=noul nod;
cout<<"Informatia (0 pentru terminare): ";
cin>>noul nod->inf;
p=noul nod;
}
p—>urm=NULL;
}
void parcurg (NOD *p)
{
while (p)
{

cout<<p->inf<<" ";

p=p->urm;






